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QUESTION 1

A VxRail administrator is trying to run a Storage Performance Test for vSAN. However, they do not see that option in
vCenter. 

What could be the reason? 

A. vSphere version is 6.5.0 EP04 

B. vSphere version is 6.5.0 U1 

C. VxRail Manager version is 4.5.211 

D. VxRail Manager version is 4.5.101 

Correct Answer: D 

 

QUESTION 2

What are the activities that can be performed from the Node Information panel of the VxRail Manager Physical back
view of a VxRail E series node? 

A. Replace Disks Shut down 

B. Add Disks Shut down Toggle Chassis LED 

C. Replace Disks Shut down Toggle Chassis LED 

D. Add Disks Toggle Disk LEDs 

Correct Answer: B 

 

QUESTION 3

How many RecoverPoint for Virtual Machines licenses are included, per VxRail V Series node? 

A. 1 

B. 4 

C. 5 

D. 15 

Correct Answer: C 

 

QUESTION 4

What is a consideration when scaling a VxRail cluster? 
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A. A maximum of 10 nodes is supported if 1 GbE networking is used 

B. The first two nodes in a standard cluster must be identical 

C. Mixing of all-flash and NVMe nodes is not allowed 

D. Mixing VxRail nodes with different base network speeds is not permitted 

Correct Answer: C 

 

QUESTION 5

A customer wants to manage multiple VxRail clusters from one vSphere client instance. They would like to avoid
purchasing additional licensing. 

Which option meets the customer needs? 

A. multiple VxRail clusters using Enhanced Linked Mode 

B. multiple VxRail clusters using CloudIQ. 

C. multiple VxRail clusters using a single external vCenter 

D. multiple VxRail clusters using SaaS multi-cluster management 

Correct Answer: B 
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